BEuomE #R10)

(1) ImL = oL
(2) 6cm?> = odL
(3) 2mL = pmm°
(4) 2L = pem?
(5) 2dL = pem?
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HDWME AFEQ0)

(1) ImL =0.001L
g5

IL=1000mL

£27TC. 1+1000 = 0.001L

(2) 6cm?> = 0.06 dL
<fEH>
1L=10dL. 1L=1000cm>& M T10dL=1000cm?

1dLI£1000+-10=100cm?>
£oT. 6100 = 0.06dL

(3) 2mL = 2000 mm?>

<fRER>

ImL =lcm?

ImL =lcmxlcmXxlcm
=10mmx10mmx10mm
=1000mm?>

£2T.2x1000 = 2000mm3

(4) 2L = 2000 cm?
<fREE>

1L=1000cm?>

£2T. 2x1000 = 2000cm?

(5) 2dL = 200 cm?

<fRE>

1L=10dL. 1L=1000cm3#Z M T10dL=1000cm>
1dLI&1000+10=100cm>

£2T. 2x100 = 200cm?

DT ML TEHISH A RX]  (https://chugakujyuken-sansuu. com/) L YERTHHLO—KFTEET,



